Exponential Discounting t=
"delta ( & )" * "Exponential Discounting t - 1"
~ Dmn1l

Real Instanteneous Utility=
"Utility ( u )" * Exponential Discounting t
~ Util / Year

"Labor Income ( Y )"=
"Normal Labor Income (Y)" * (1 - Retirement Switch)
~ Dollar/Year

MPC=
ZIDZ (Current Consumption, "Labor Income ( Y )")
~ Dmn 1
~ ~ : SUPPLEMENTARY
|
Consumption=
("Initial Wealth ( W )" + (Retirement Time - INITIAL TIME) * "Normal Labor Income (Y)"\
) / (FINAL TIME - INITIAL TIME )
~ Dollar/Year
~ |
"Wealth ( W )"= INTEG (
"Labor Income ( Y )"-Current Consumption,
"Initial Wealth (W )"™)
~ Dollar
~ ~ : SUPPLEMENTARY

Current Consumption=
Consumption
~ Dollar/Year

"Utility (u )"=

IF THEN ELSE ("Coefficient of Relative Risk Aversion ( p )" = 1, IF THEN ELSE (Current
Consumption
=0, 0, 1In (

Current Consumption / Normal Consumption)
) * Util per Year

, ((( Current Consumption
/ Normal Consumption) »~ (1 - "Coefficient of Relative Risk Aversion ( p )" )) / (1\
- "Coefficient of Relative Risk Aversion ( p )"
)) * Util per Year )
~ Util / Year
~ |
"Real Lifetime Utility ( U )"= INTEG (

Real Instanteneous Utility,

"Initial Real Lifetime Utility (U)")
~ Util
~ ~ : SUPPLEMENTARY

Chge in Exponential Discounting t 1=
IF THEN ELSE (Time = INTEGER (Time), ( Exponential Discounting t - Exponential Discounting
t 1\
) / TIME STEP, O0)
~ Dmnl/Year



"Coefficient of Relative Risk Aversion ( p )"=

0.67

~ Dmnl
"delta ( & )"=

0.99

~ Dmnl

~ |
"Exponential Discounting t - 1"=

IF THEN ELSE (Time = INTEGER (Time), Exponential Discounting t 1, Lagged Exponential
Discounting t 1\
)
~ Dmn1l

Exponential Discounting t 1= INTEG (
Chge in Exponential Discounting t 1,
Initial Exponential Discounting t 1)
~ Dmnl

Initial Exponential Discounting t 1=
1
~ Dmnl

"Initial Real Lifetime Utility (U)"=
1
~ Util

"Initial Wealth ( W )"=
1000
~ Dollar

Lagged Exponential Discounting t 1=
DELAY FIXED( Exponential Discounting t 1, 1 , Exponential Discounting t 1 )
~ Dmnl

Normal Consumption=
1
~ Dollar/Year

"Normal Labor Income (Y)"=
1200
~ Dollar/Year

Retirement Switch=
STEP (1, Retirement Time + TIME STEP)
~ Dmn 1

Retirement Time=
58
~ Year

Util per Year=
1
~ Util/Year
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Simulation Control Parameters

FINAL TIME = 78
~ Year
~ The final time for the simulation.

INITIAL TIME = 18
~ Year
~ The initial time for the simulation.

SAVEPER =
TIME STEP
~ Year [0,7?]
~ The frequency with which output is stored.
|
TIME STEP = 0.0625

~ Year [0,7?]
~ The time step for the simulation.

\\\---/// Sketch information - do not modify anything except names

V300 Do not put anything below this section - it will be ignored
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